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9C9 - 9C8 + 9C7 - 9C6 + 9C5 - 9C4 + 9C3 -
oGy +3C =7
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The smallest prime number x such that
17x + 3 is also a prime number.
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A straight line y = m (m > 0) intersects
the curve y = x° — 3x —4 at A(«, k) and
B(B, m), find the value of @ + B.
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The unit digit of
12009 D% 32009 X 52009 X 72009 X 92009.
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If =720, find r.
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The remainder of 7% =+ 100 .
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V1 + 71+ 8V1 + 9Y... =2

In the figure, ABCD is a straight line
with AB = BC = CD. Three circles I, 11
and III are drawn respectively on AB,
AC and AD as diameters. Area of circle
I : Area of circle II : Area of circle 111

If 2x =3y =5z,
thenx:y:z=15:r:6,r=7?
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E and F are the mid-points of AB and
DC respectively. BF and ED cut AC at P
and Q respectively. If the area of ABCD
is 48, find the area of the shaded part.

If the polar coordinates of the two
points 4 and B are (5, 45°) and (12, 135°)
respectively, find the distance between

A and B.

A bag contains 2 black balls,
balls and 2 yellow balls. John

2 green
draws

one ball at a time randomly without

replacement until a green ball is drawn,
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log,x —log,16 = 1, find the other solution.

A, cm’® and A4, cm’ respectively.
If A,=12and A, = 5, A, = ?

7 cm’, 12 cm” and 10.5 cm’ respectively.
Find the area of AOCD.

A D

12 cm?

10.5 cm® 1 8
c HiZK

B

5 oranges and 3 apples. There are 2
possible numbers of children satisfying
this situation. Find the number of
oranges each child gets when the larger

number of children is taken.
HH

cost price. If he wants to sell his goods
to a friend at the cost price, find the
percentage discount on the marked price.
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— =1:4:5,5=? Z > £ - the probability that he needs at most 4
ko
- ) draws is 15 k=7
I
8 /) 9 10 11 12 13 14
A > E B
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. .1 1 1 9 1 . In the figure, PXQ, QYR and RZP are In the figure, AC cuts BD at O. The Dividing 404 oranges and 108 apples A man marks his goods at a price that In the figure, ABCD is a parallelogram

Find zif " * 7 * - 10 S A 1fx= 4 is one of the solution of semicircles and their areas are 4, cm’, areas of AAOB, AAOD and ABOC are equally among a group of children left will bring him a profit of 25% on the and AE: ED =1:3.If the area of

AABE = 3 cm’. Find the area of the

shaded region.
A

B
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Number of zeros of
“1X2x3x..%x99”,
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The number of arrangements for 5
people sitting in a round circle.
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V2 +VD)"+ B+ + ...
+ (Vn+\n—-1)" =4,
find n.
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The coefficient of n for (2n + 1)"
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If a class of children is divided into
groups of 5, 2 children will be left over.
If the class is divided into groups of 6,
3 children will be left over. What is the
smallest number of children the class
could have?
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Given log,, 1936 = 2, find x .
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